UGC NET 2021 Assamese

Topic:- Assamese_SET1_A
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[Question ID = 2279][Question Description = Q01_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9113]
2. 2 [Option ID = 9114]
3. 3 [Option ID = 9115]
4. 4 [Option ID = 9116]

Correct Answer :-
e 1 [Option ID = 9113]
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[Question ID = 2280][Question Description = Q02_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9117]
2. 2 [Option ID = 9118]
3. 3 [Option ID = 9119]
4. 4 [Option ID = 9120]

Correct Answer :-
e 1 [Option ID = 9117]
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[Question ID = 2281][Question Description = Q03_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9121]
2. 2 [Option ID = 9122]
3. 3 [Option ID = 9123]
4. 4 [Option ID = 9124]

Correct Answer :-
e 1 [Option ID = 9121]
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[Question ID = 2282][Question Description = Q04_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9125]
2. 2 [Option ID = 9126]



3. 3 [Option ID = 9127]
4. 4 [Option ID = 9128]

Correct Answer :-
e 1 [Option ID = 9125]
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[Question ID = 2283][Question Description = Q05_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9129]
2. 2 [Option ID = 9130]
3. 3 [Option ID = 9131]
4. 4 [Option ID = 9132]

Correct Answer :-
e 1 [Option ID = 9129]
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[Question ID = 2284][Question Description = Q06_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9133]
2. 2 [Option ID = 9134]
3. 3 [Option ID = 9135]
4. 4 [Option ID = 9136]

Correct Answer :-
e 1 [Option ID = 9133]
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[Question ID = 2285][Question Description = Q07_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9137]
2. 2 [Option ID = 9138]
3. 3 [Option ID = 9139]
4. 4 [Option ID = 9140]

Correct Answer :-
e 1 [Option ID = 9137]
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[Question ID = 2286][Question Description = Q08_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9141]



2. 2 [Option ID = 9142]
3. 3 [Option ID = 9143]
4. 4 [Option ID = 9144]

Correct Answer :-
e 1 [Option ID = 9141]
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[Question ID = 2287][Question Description = Q09_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9145]
2. 2 [Option ID = 9146]
3. 3 [Option ID = 9147]
4. 4 [Option ID = 9148]

Correct Answer :-
e 1 [Option ID = 9145]

10)
SIS E T4 I4E (T A6 FE?
(1) wEmEEE (2) ARG
(3) AHFMT @) TFEEE

[Question ID = 2288][Question Description = Q10_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9149]
2. 2 [Option ID = 9150]
3. 3 [Option ID = 9151]
4. 4 [Option ID = 9152]

Correct Answer :-
e 1 [Option ID = 9149]
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[Question ID = 2289][Question Description = Q11_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9153]
2. 2 [Option ID = 9154]
3. 3 [Option ID = 9155]
4. 4 [Option ID = 9156]

Correct Answer :-
e 1 [Option ID = 9153]
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[Question ID = 2290][Question Description = Q12_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9157]
2. 2 [Option ID = 9158]
3. 3 [Option ID = 9159]
4. 4 [Option ID = 9160]

Correct Answer :-

e 1 [Option ID = 9157]
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[Question ID = 2291][Question Description = Q13_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9161]
2. 2 [Option ID = 9162]
3. 3 [Option ID = 9163]
4. 4 [Option ID = 9164]

Correct Answer :-
e 1 [Option ID = 9161]
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[Question ID = 2292][Question Description = Q14_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9165]
2. 2 [Option ID = 9166]
3. 3 [Option ID = 9167]
4. 4 [Option ID = 9168]

Correct Answer :-
e 1 [Option ID = 9165]
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[Question ID = 2293][Question Description = Q15_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9169]
2. 2 [Option ID = 9170]
3. 3 [Option ID = 9171]
4. 4 [Option ID = 9172]

Correct Answer :-
e 1 [Option ID = 9169]
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[Question ID = 2294][Question Description = Q16_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9173]
2. 2 [Option ID = 9174]
3. 3 [Option ID = 9175]
4. 4 [Option ID = 9176]

Correct Answer :-
e 1 [Option ID = 9173]
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[Question ID = 2295][Question Description = Q17_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9177]



2. 2 [Option ID = 9178]
3. 3 [Option ID = 9179]
4. 4 [Option ID = 9180]

Correct Answer :-
e 1 [Option ID = 9177]
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[Question ID = 2296][Question Description = Q18_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9181]
2. 2 [Option ID = 9182]
3. 3 [Option ID = 9183]
4. 4 [Option ID = 9184]

Correct Answer :-

e 1 [Option ID = 9181]
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[Question ID = 2297][Question Description = Q19_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9185]
2. 2 [Option ID = 9186]
3. 3 [Option ID = 9187]
4. 4 [Option ID = 9188]
Correct Answer :-

e 1 [Option ID = 9185]
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[Question ID = 2298][Question Description = Q20_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9189]
2. 2 [Option ID = 9190]
3. 3 [Option ID = 9191]
4. 4 [Option ID = 9192]

Correct Answer :-
e 1 [Option ID = 9189]
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[Question ID = 2299][Question Description = Q21_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9193]



2. 2 [Option ID = 9194]
3. 3 [Option ID = 9195]
4. 4 [Option ID = 9196]

Correct Answer :-
e 1 [Option ID = 9193]
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[Question ID = 2300][Question Description = Q22_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9197]
2. 2 [Option ID = 9198]
3. 3 [Option ID = 9199]
4. 4 [Option ID = 9200]

Correct Answer :-
e 1 [Option ID = 9197]
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[Question ID = 2301][Question Description = Q23_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9201]
2. 2 [Option ID = 9202]
3. 3 [Option ID = 9203]
4. 4 [Option ID = 9204]

Correct Answer :-
e 1 [Option ID = 9201]
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[Question ID = 2302][Question Description = Q24_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9205]
2. 2 [Option ID = 9206]
3. 3 [Option ID = 9207]
4. 4 [Option ID = 9208]

Correct Answer :-
e 1 [Option ID = 9205]
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[Question ID = 2303][Question Description = Q25_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9209]
2. 2 [Option ID = 9210]
3. 3 [Option ID = 9211]
4. 4 [Option ID = 9212]



Correct Answer :-
e 1 [Option ID = 9209]
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[Question ID = 2304][Question Description = Q26_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9213]
2. 2 [Option ID = 9214]
3. 3 [Option ID = 9215]
4. 4 [Option ID = 9216]

Correct Answer :-
e 1 [Option ID = 9213]
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[Question ID = 2305][Question Description = Q27_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9217]
2. 2 [Option ID = 9218]
3. 3 [Option ID = 9219]
4. 4 [Option ID = 9220]

Correct Answer :-
e 1 [Option ID = 9217]
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[Question ID = 2306][Question Description = Q28_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9221]
2. 2 [Option ID = 9222]

3. 3 [Option ID = 9223]
4. 4 [Option ID = 9224]

Correct Answer :-
e 1 [Option ID = 9221]
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[Question ID = 2307][Question Description = Q29_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9225]
2. 2 [Option ID = 9226]
3. 3 [Option ID = 9227]
4. 4 [Option ID = 9228]

Correct Answer :-

e 1 [Option ID = 9225]
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[Question ID = 2308][Question Description = Q30_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9229]
2. 2 [Option ID = 9230]
3. 3 [Option ID = 9231]
4. 4 [Option ID = 9232]

Correct Answer :-
e 1 [Option ID = 9229]
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[Question ID = 2309][Question Description = Q31_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9233]
2. 2 [Option ID = 9234]
3. 3 [Option ID = 9235]
4. 4 [Option ID = 9236]

Correct Answer :-
e 1 [Option ID = 9233]
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[Question ID = 2310][Question Description = Q32_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9237]
2. 2 [Option ID = 9238]
3. 3 [Option ID = 9239]
4. 4 [Option ID = 9240]

Correct Answer :-
e 1 [Option ID = 9237]
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[Question ID = 2311][Question Description = Q33_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9241]
2. 2 [Option ID = 9242]
3. 3 [Option ID = 9243]
4. 4 [Option ID = 9244]

Correct Answer :-
e 1 [Option ID = 9241]
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[Question ID = 2312][Question Description = Q34_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9245]
2. 2 [Option ID = 9246]
3. 3 [Option ID = 9247]
4. 4 [Option ID = 9248]

Correct Answer :-
e 1 [Option ID = 9245]
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[Question ID = 2313][Question Description = Q35_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9249]
2. 2 [Option ID = 9250]
3. 3 [Option ID = 9251]
4. 4 [Option ID = 9252]

Correct Answer :-
e 1 [Option ID = 9249]
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[Question ID = 2314][Question Description = Q36_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9253]
2. 2 [Option ID = 9254]
3. 3 [Option ID = 9255]
4. 4 [Option ID = 9256]

Correct Answer :-

e 1 [Option ID = 9253]
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[Question ID = 2315][Question Description = Q37_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9257]
2. 2 [Option ID = 9258]
3. 3 [Option ID = 9259]
4. 4 [Option ID = 9260]

Correct Answer :-
e 1 [Option ID = 9257]
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[Question ID = 2316][Question Description = Q38_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9261]
2. 2 [Option ID = 9262]
3. 3 [Option ID = 9263]
4. 4 [Option ID = 9264]

Correct Answer :-
e 1 [Option ID = 9261]
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[Question ID = 2317][Question Description = Q39_ASSAM_SHAAN_4DEC_S1_Shift1]



1 [Option ID = 9265]
2 [Option ID = 9266]
3 [Option ID = 9267]
4 [Option ID = 9268]
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Correct Answer :-
e 1 [Option ID = 9265]
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[Question ID = 2318][Question Description = Q40_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9269]
2. 2 [Option ID = 9270]
3. 3 [Option ID = 9271]
4. 4 [Option ID = 9272]

Correct Answer :-
e 1 [Option ID = 9269]
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[Question ID = 2319][Question Description = Q41_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9273]
2. 2 [Option ID = 9274]
3. 3 [Option ID = 9275]
4. 4 [Option ID = 9276]

Correct Answer :-
e 1 [Option ID = 9273]
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[Question ID = 2320][Question Description = Q42_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9277]
2. 2 [Option ID = 9278]



3. 3 [Option ID = 9279]
4. 4 [Option ID = 9280]

Correct Answer :-
e 1 [Option ID = 9277]
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[Question ID = 2321][Question Description = Q43_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9281]
2. 2 [Option ID = 9282]
3. 3 [Option ID = 9283]
4. 4 [Option ID = 9284]

Correct Answer :-
e 1 [Option ID = 9281]
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[Question ID = 2322][Question Description = Q44_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9285]
2. 2 [Option ID = 9286]
3. 3 [Option ID = 9287]
4. 4 [Option ID = 9288]

Correct Answer :-
e 1 [Option ID = 9285]
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[Question ID = 2323][Question Description = Q45_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9289]
2. 2 [Option ID = 9290]
3. 3 [Option ID = 9291]



4. 4 [Option ID = 9292]

Correct Answer :-
e 1 [Option ID = 9289]
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[Question ID = 2324][Question Description = Q46_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9293]
2. 2 [Option ID = 9294]
3. 3 [Option ID = 9295]
4. 4 [Option ID = 9296]

Correct Answer :-
e 1 [Option ID = 9293]

47)

AW I9E PSR BF YOG T F41
A FEAHEETR

B. SIS

c. TEEfeETS

D CTITIAT ST

(1) AZFB @ BwFC
(3) Ca{g D (40 B9 D

[Question ID = 2325][Question Description = Q47_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9297]
2. 2 [Option ID = 9298]
3. 3 [Option ID = 9299]
4. 4 [Option ID = 9300]

Correct Answer :-
e 1 [Option ID = 9297]
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[Question ID = 2326][Question Description = Q48_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9301]
2. 2 [Option ID = 9302]
3. 3 [Option ID = 9303]
4. 4 [Option ID = 9304]



Correct Answer :-
e 1 [Option ID = 9301]
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[Question ID = 2327][Question Description = Q49_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9305]
2. 2 [Option ID = 9306]
3. 3 [Option ID = 9307]
4. 4 [Option ID = 9308]

Correct Answer :-
e 1 [Option ID = 9305]
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[Question ID = 2328][Question Description = Q50_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9309]
2. 2 [Option ID = 9310]
3. 3 [Option ID = 9311]
4. 4 [Option ID = 9312]

Correct Answer :-
e 1 [Option ID = 9309]

1) sesie THEE 9%T O ! T F11

A fedrsaenie o s Ao
B. o4 (TEM%(G

C.  (TF$B Tsw
D.  SHOIS I SET Sesife

(1) A99B (2) AT D
3 Cag D (4 B C

[Question ID = 2329][Question Description = Q51_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9313]
2. 2 [Option ID = 9314]
3. 3 [Option ID = 9315]
4. 4 [Option ID = 9316]

Correct Answer :-
e 1 [Option ID = 9313]
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[Question ID = 2330][Question Description = Q52_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9317]
2. 2 [Option ID = 9318]
3. 3 [Option ID = 9319]
4. 4 [Option ID = 9320]

Correct Answer :-
e 1 [Option ID = 9317]
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[Question ID = 2331][Question Description = Q53_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9321]
2. 2 [Option ID = 9322]
3. 3 [Option ID = 9323]
4. 4 [Option ID = 9324]

Correct Answer :-
e 1 [Option ID = 9321]
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[Question ID = 2332][Question Description = Q54_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9325]
2. 2 [Option ID = 9326]
3. 3 [Option ID = 9327]
4. 4 [Option ID = 9328]

Correct Answer :-
e 1 [Option ID = 9325]
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[Question ID = 2333][Question Description = Q55_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9329]
2. 2 [Option ID = 9330]

3. 3 [Option ID = 9331]
4. 4 [Option ID = 9332]

Correct Answer :-
e 1 [Option ID = 9329]
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[Question ID = 2334][Question Description = Q56_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9333]
2. 2 [Option ID = 9334]
3. 3 [Option ID = 9335]
4. 4 [Option ID = 9336]

Correct Answer :-
e 1 [Option ID = 9333]
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[Question ID = 2335][Question Description = Q57_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9337]
2. 2 [Option ID = 9338]
3. 3 [Option ID = 9339]
4. 4 [Option ID = 9340]

Correct Answer :-
e 1 [Option ID = 9337]
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[Question ID = 2336][Question Description = Q58_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9341]
2. 2 [Option ID = 9342]
3. 3 [Option ID = 9343]
4. 4 [Option ID = 9344]

Correct Answer :-

e 1 [Option ID = 9341]
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[Question ID = 2337][Question Description = Q59_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9345]
2. 2 [Option ID = 9346]
3. 3 [Option ID = 9347]
4. 4 [Option ID = 9348]

Correct Answer :-
e 1 [Option ID = 9345]
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[Question ID = 2338][Question Description = Q60_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9349]
2. 2 [Option ID = 9350]
3. 3 [Option ID = 9351]
4. 4 [Option ID = 9352]

Correct Answer :-
e 1 [Option ID = 9349]
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[Question ID = 2339][Question Description = Q61_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9353]
2. 2 [Option ID = 9354]
3. 3 [Option ID = 9355]
4. 4 [Option ID = 9356]
Correct Answer :-

e 1 [Option ID = 9353]
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[Question ID = 2340][Question Description = Q62_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9357]
2. 2 [Option ID = 9358]
3. 3 [Option ID = 9359]
4. 4 [Option ID = 9360]

Correct Answer :-
e 1 [Option ID = 9357]
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[Question ID = 2341][Question Description = Q63_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9361]



2. 2 [Option ID = 9362]
3. 3 [Option ID = 9363]
4. 4 [Option ID = 9364]

Correct Answer :-
e 1 [Option ID = 9361]
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[Question ID = 2342][Question Description = Q64_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9365]

2. 2 [Option ID = 9366]

3. 3 [Option ID = 9367]

4. 4 [Option ID = 9368]

Correct Answer :-

e 1 [Option ID = 9365]

A A0 wenE a4 | | TaEE

SR T || 8F FEET
B.  =elfed form 11 &4

Sfsrer F4feT | 1o
c. fem ) ofem e =ife
O ST 9= | 5T =] 9

D. == S 43 || 916 9106 T4 @1

A EEe | E & el
(1) A9FB (2) AagcC
@ BIFC 4) Ca{ D

[Question ID = 2343][Question Description = Q65_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9369]
2. 2 [Option ID = 9370]
3. 3 [Option ID = 9371]
4. 4 [Option ID = 9372]

Correct Answer :-
e 1 [Option ID = 9369]
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[Question ID = 2344][Question Description = Q66_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9373]
2. 2 [Option ID = 9374]
3. 3 [Option ID = 9375]
4. 4 [Option ID = 9376]

Correct Answer :-
e 1 [Option ID = 9373]
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[Question ID = 2345][Question Description = Q67_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9377]
2. 2 [Option ID = 9378]
3. 3 [Option ID = 9379]
4. 4 [Option ID = 9380]

Correct Answer :-
e 1 [Option ID = 9377]
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[Question ID = 2346][Question Description = Q68_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9381]
2. 2 [Option ID = 9382]

3. 3 [Option ID = 9383]
4. 4 [Option ID = 9384]



Correct Answer :-
e 1 [Option ID = 9381]
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[Question ID = 2347][Question Description = Q69_ASSAM_SHAAN_4DEC_S1_Shift1]

1. 1 [Option ID = 9385]

2. 2 [Option ID = 9386]

3. 3 [Option ID = 9387]

4. 4 [Option ID = 9388]

Correct Answer :-

e 1 [Option ID = 9385]
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(1) A-MIB-I.C-IV, D-TII
2) A-IB-I.C-III. D-IV
(3) A-IVB-TIT,C-TI, D-I
(4) A-IB-II.C-III, D-IV

[Question ID = 2348][Question Description = Q70_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9389]
2. 2 [Option ID = 9390]
3. 3 [Option ID = 9391]
4. 4 [Option ID = 9392]

Correct Answer :-
e 1 [Option ID = 9389]
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(3) A IVB-III.C-I. D-I1
4) A-II.B-IV.C-III. D-1

[Question ID = 2349][Question Description = Q71_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9393]
2. 2 [Option ID = 9394]
3. 3 [Option ID = 9395]
4. 4 [Option ID = 9396]

Correct Answer :-

e 1 [Option ID = 9393]
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[Question ID = 2350][Question Description = Q72_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9397]
2. 2 [Option ID = 9398]
3. 3 [Option ID = 9399]
4. 4 [Option ID = 9400]

Correct Answer :-
e 1 [Option ID = 9397]
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[Question ID = 2351][Question Description = Q73_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9401]
2. 2 [Option ID = 9402]
3. 3 [Option ID = 9403]
4. 4 [Option ID = 9404]

Correct Answer :-
e 1 [Option ID = 9401]
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4) A-IIT.B-IV.C-I. D-1I

[Question ID = 2352][Question Description = Q74_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9405]
2. 2 [Option ID = 9406]
3. 3 [Option ID = 9407]
4. 4 [Option ID = 9408]

Correct Answer :-
e 1 [Option ID = 9405]
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[Question ID = 2353][Question Description = Q75_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9409]
2. 2 [Option ID = 9410]
3. 3 [Option ID = 9411]
4. 4 [Option ID = 9412]



Correct Answer :-
e 1 [Option ID = 9409]
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[Question ID = 2354][Question Description = Q76_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9413]
2. 2 [Option ID = 9414]
3. 3 [Option ID = 9415]
4. 4 [Option ID = 9416]

Correct Answer :-
e 1 [Option ID = 9413]
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[Question ID = 2355][Question Description = Q77_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9417]
2. 2 [Option ID = 9418]
3. 3 [Option ID = 9419]
4. 4 [Option ID = 9420]

Correct Answer :-
e 1 [Option ID = 9417]
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[Question ID = 2356][Question Description = Q78_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9421]
2. 2 [Option ID = 9422]
3. 3 [Option ID = 9423]
4. 4 [Option ID = 9424]

Correct Answer :-
e 1 [Option ID = 9421]
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[Question ID = 2357][Question Description = Q79_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9425]
2. 2 [Option ID = 9426]

3. 3 [Option ID = 9427]
4. 4 [Option ID = 9428]

Correct Answer :-
e 1 [Option ID = 9425]
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[Question ID = 2358][Question Description = Q80_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9429]
2. 2 [Option ID = 9430]
3. 3 [Option ID = 9431]
4. 4 [Option ID = 9432]

Correct Answer :-
e 1 [Option ID = 9429]
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[Question ID = 2359][Question Description = Q81_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9433]
2. 2 [Option ID = 9434]
3. 3 [Option ID = 9435]
4. 4 [Option ID = 9436]

Correct Answer :-
e 1 [Option ID = 9433]
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[Question ID = 2360][Question Description = Q82_ASSAM_SHAAN_4DEC_S1_Shift1]



1 [Option ID = 9437]
2 [Option ID = 9438]
3 [Option ID = 9439]
4 [Option ID = 9440]
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Correct Answer :-
e 1 [Option ID = 9437]
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[Question ID = 2361][Question Description = Q83_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9441]
2. 2 [Option ID = 9442]

3. 3 [Option ID = 9443]
4. 4 [Option ID = 9444]

Correct Answer :-
e 1 [Option ID = 9441]
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[Question ID = 2362][Question Description = Q84_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9445]
2. 2 [Option ID = 9446]
3. 3 [Option ID = 9447]
4. 4 [Option ID = 9448]

Correct Answer :-
e 1 [Option ID = 9445]
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[Question ID = 2363][Question Description = Q85_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9449]
2. 2 [Option ID = 9450]
3. 3 [Option ID = 9451]
4. 4 [Option ID = 9452]

Correct Answer :-
e 1 [Option ID = 9449]
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[Question ID = 2364][Question Description = Q86_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9453]
2. 2 [Option ID = 9454]
3. 3 [Option ID = 9455]
4. 4 [Option ID = 9456]

Correct Answer :-
e 1 [Option ID = 9453]
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[Question ID = 2365][Question Description = Q87_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9457]
2. 2 [Option ID = 9458]

3. 3 [Option ID = 9459]
4. 4 [Option ID = 9460]

Correct Answer :-
e 1 [Option ID = 9457]
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[Question ID = 2366][Question Description = Q88_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9461]
2. 2 [Option ID = 9462]
3. 3 [Option ID = 9463]
4. 4 [Option ID = 9464]

Correct Answer :-
e 1 [Option ID = 9461]
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[Question ID = 2367][Question Description = Q89_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9465]
2. 2 [Option ID = 9466]

3. 3 [Option ID = 9467]
4. 4 [Option ID = 9468]

Correct Answer :-
e 1 [Option ID = 9465]
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[Question ID = 2368][Question Description = Q90_ASSAM_SHAAN_4DEC_S1_Shift1]
1.1

[Option ID = 9469]
2.2

[Option ID = 9470]
3.3

[Option ID = 9471]
4. 4

[Option ID = 9472]

Correct Answer :-

e 1

[Option ID = 9469]
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[Question ID = 2369][Question Description = Q91_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9473]
2. 2 [Option ID = 9474]
3. 3 [Option ID = 9475]
4. 4 [Option ID = 9476]

Correct Answer :-
e 1 [Option ID = 9473]
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[Question ID = 2370][Question Description = Q92_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9477]
2. 2 [Option ID = 9478]
3. 3 [Option ID = 9479]
4. 4 [Option ID = 9480]

Correct Answer :-
e 1 [Option ID = 9477]
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[Question ID = 2371][Question Description = Q93_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9481]
2. 2 [Option ID = 9482]
3. 3 [Option ID = 9483]
4. 4 [Option ID = 9484]

Correct Answer :-



e 1 [Option ID = 9481]
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[Question ID = 2372][Question Description = Q94_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9485]
2. 2 [Option ID = 9486]
3. 3 [Option ID = 9487]
4. 4 [Option ID = 9488]

Correct Answer :-
e 1 [Option ID = 9485]
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[Question ID = 2373][Question Description = Q95_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9489]
2. 2 [Option ID = 9490]
3. 3 [Option ID = 9491]
4. 4 [Option ID = 9492]

Correct Answer :-
e 1 [Option ID = 9489]

Topic:- Assamese_SET1_C
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[Question ID = 2374][Question Description = Q96_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9493]
2. 2 [Option ID = 9494]
3. 3 [Option ID = 9495]
4. 4 [Option ID = 9496]

Correct Answer :-
e 1 [Option ID = 9493]
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[Question ID = 2375][Question Description = Q97_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9497]
2. 2 [Option ID = 9498]
3. 3 [Option ID = 9499]
4. 4 [Option ID = 9500]

Correct Answer :-
e 1 [Option ID = 9497]
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[Question ID = 2376][Question Description = Q98_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9501]
2. 2 [Option ID = 9502]
3. 3 [Option ID = 9503]
4. 4 [Option ID = 9504]

Correct Answer :-
e 1 [Option ID = 9501]
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[Question ID = 2377][Question Description = Q99_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9505]
2. 2 [Option ID = 9506]
3. 3 [Option ID = 9507]
4. 4 [Option ID = 9508]

Correct Answer :-
e 1 [Option ID = 9505]
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[Question ID = 2378][Question Description = Q100_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9509]
2. 2 [Option ID = 9510]
3. 3 [Option ID = 9511]
4. 4 [Option ID = 9512]

Correct Answer :-
e 1 [Option ID = 9509]

Topic:- 04th_SET9_A

1)

Tables I and II below present analysis of people involved 1n a total of 10.000 road accidents
which happened in Delhi during the year 2020 in accordance to both analysis of severity and
fatalities. Taking it. on an average three (3) people were involved in each road accident. In
accordance with the data in the tables. answer the questions :

Tahle — I : Analysis of Severity Table —II : Analysis of Fatalities
Uninjured 47% Head Injures 69%
First-Aid Required | 6% Damage to Internal Organs | 21%
Mild Bruises 9% Fire Casuality 3%
Hospitalization 19% Blood-Loss T%
Fatalities 19%

What 1 the number of people who died of head injuries in accidents in Delhi during the
vear 20207

(3) 1311 (4) 3933

(1) 7787 (2) 2297

Twoll [ @on wnolt 11 6 UH =fdadl 1 fageian @ S A 991 JrEtaddl 5 % [Geen % STEn a9

2020 ¥ fgeefl ® Fo1 10,000 WsF FHeAHA H WHSA 4 | THE TE TA1 T 2 6 Ge4® WeH guA H
HAHe o (=afad) anHer 4| =JEol | G 0 SRSl B AT W99 % I ae

Aol 1 7efirar 1 fagerso TRt 1T wetasrar =1 fagemm
i g T 5 47% 5= fm = = 69%
o= matgs fateem i smEvasa | 6% fos  amafes s w1 gEEE | 21%

5

o7 sreaare | Wl T 19% fo i g w7 9= F FEo U | 7%
i gog 71 19%

9 2020 ¥ faeedt A fim W =12 v At gz § w4 a1 sAtEaar f aen = e v

(1) Ti87 (2) 2297

(3) 1311 4y 3933

[Question ID = 2729][Question Description = Q1_GP_SET9_S1_Shift2]
1.1

[Option ID = 10913]
2.2



[Option ID = 10914]
3.3

[Option ID = 10915]
4. 4

[Option ID = 10916]

Correct Answer :-
e 1

[Option ID = 10913]
Tables I and II below present analysis of people involved in a total of 10.000 road accidents
which happened in Delhi during the year 2020 in accordance to both analysis of severity and
fatalities. Taking it. on an average three (3) people were involved in each road accident. In
accordance with the data in the tables. answer the questions :

Table — I : Analysis of Severity Table — II : Analysis of Fatalities
Uninjured 47% Head Injures 69%
First-Aid Required | 6% Damage to Internal Organs | 21%
Mild Bruises 9% Fire Casuality 3%
Hospitalization 19% Blood-Loss %
Fatalities 19%

For a person involved in an accident. the likelithood of escaping uninjured iz P times that of
dving by Fire. Then. approximately P will be equal to ___

(1) 12 (2) 82
(3) 200 4 15

arofl [ @1 "weil 11 8 v =afwadl 0 favemo 2 S e au1 srartasar 2 & e & e
2020 # fgeeft & F=1 10,000 HSF FUA § TEA o | THH T2 G4 Tod 2 F IO ASF g |
HtEad o (safEa) wigs &) =l § 5 T sArEsl F EaE Wy F I S

Awf I e #1 fave FAROT I1 S 1 favemm

W aEe TE F 47% o2 fom w =iz =i 69%

9= mutes e Fi stavawa | 6% o st s w TEEE | 21%
&

5= s/t | 9l T 19% fo i g w2 9 F FEO e | 7%

fi g A 19%

forddi e @ wwifaa & Al Rl =afda + fov wifea s fpem it gumEmn smr & w5 i

HHIET 1 g1 1 P 2 | 99 P oaan = HE B |

(1) 12 (2) 82

(3 200 4 15

[Question ID = 2730][Question Description = Q2_GP_SET9_S1_Shift2]
1.1

[Option ID = 10917]
2.2

[Option ID = 10918]
3.3

[Option ID = 10919]
4. 4



[Option ID = 10920]

Correct Answer :-

° 1

[Option ID = 10917]

Tables I and II below present analysis of people involved 1n a total of 10.000 road accidents
which happened in Delhi during the year 2020 in accordance to both analysis of severity and
fatalities. Taking it. on an average three (3) people were involved in each road accident. In
accordance with the data in the tables. answer the questions :

Tahle — I : Analysis of Severity Table —II : Analysis of Fatalities
Uninjured 47% Head Injures 69%
First-Aid Required | 6% Damage to Internal Organs | 21%
Mild Bruises 9% Fire Casuality 3%
Hospitalization 19% Blood-Loss T%
Fatalities 19%

In cases. where accidents victims had to be hospitalized. the average number of days spent
by the persons in hospital comes to four (4). What was the total number of hospital days
spent by the vietims involved in accidents in Delhi during the vear 20207

(1) 22,800 (2) 24.600
(3) 54,600 (4) 10,400

Tl [ 52 wweit 11 5 U8 =ateaai 1 favemel 2 S T9RAT 991 JErawal SE F fEree oATE ay

2020 # feeelt d % 10,000 U5 gHeATH § WHSA o | SHE °7 UA1 oAl 2 16 USF 6sF gHeAl H
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w1 e - favero HRoft 11 Feteefat 1 fazemor

i == TE g 47% oz tow w =iz =it 69%
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=

5= s § et fem T 19% 5l 57 7w 9= & e wed | 7%
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(1) 22,800 (2) 24.600
(3) 54,600 (4) 10,400

[Question ID = 2731][Question Description = Q3_GP_SET9_S1_Shift2]
1.1

[Option ID = 10921]
2.2

[Option ID = 10922]
3.3

[Option ID = 10923]
4. 4

[Option ID = 10924]

Correct Answer :-



o 1

[Option ID = 10921]

4) Tables I and II below present analysis of people involved in a total of 10.000 road accidents
which happened in Delhi during the yvear 2020 in accordance to both analysis of severity and
fatalities. Taking it. on an average three (3) people were involved in each road accident. In
accordance with the data in the tables. answer the questions :

Table — I : Analysis of Severity Table — II : Analvsis of Fatalities
Uninjured 47% Head Injuries 69%
First-Aid Required | 6% Damage to Internal Organs | 21%
Mild Bruises 9% Fire Casuality 3%
Hospitalization 19% Blood-Loss %
Fatalities 19%

From the data in Tables I and II. it can be concluded that :

(1) drunken driving is dangerous.
(2) more accldents happen at night because of fatigue and poor visibility
(3) motorcyele drivers are at a greater risk of being involved in an accident than

automobile drivers.

(4) the likelihood of surviving an accident 1s greater than that of dyving in an accident

"
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awef 1 =11 I1 ¥ fou 70 s1i6si % A98W, 95 ok FEe 51 g6 2

(1) e it TSt S =T

(2) WM T FH GTAM F HEO TG H AfoF G 2l F |

(3) R IR (AdEETES 3EAE) H 9o ° HiZEEERE Jiel H RS gHe F O 2
(e e =i 2 |
(4) T e ° O B 9 g § gUe e i SEE g =
[Question ID = 2732][Question Description = Q4_GP_SET9_S1_Shift2]
1.1

[Option ID = 10925]
2.2

[Option ID = 10926]
3.3

[Option ID = 10927]
4. 4

[Option ID = 10928]



Correct Answer :-

e 1

[Option ID = 10925]

Tables I and II below present analysis of people involved in a total of 10.000 road accidents
which happened in Delhi during the year 2020 in accordance to both analysis of severity and

fatalities. Taking it. on an average three (3) people were involved in each road accident. In
accordance with the data in the tables. answer the questions :

Table — I : Analysis of Severity Table — IT : Analyvsis of Fatalities
Uninjured 47% Head Injuries 69%
First-Aid Required | 6% Damage to Internal Organs | 21%
Mild Bruises 9% Fire Casuality 3%
Hospitalization 19% Blood-Loss 7%
Fatalitiesz 19%

Approximately. what 1s the ratio of the number of people who escaped with mild bruiszes
in an accident compared to the number of people who died due to blood-loss in an aceident?

(1) 1:5 2y 5H5:8:2
(3) 6:8:1 (4 15:8

arofl [ @1 "weil 11 8 v =afgadl 0 favemo 2 S e 391 srartahar 2 & Eee & e ad
2020 @ foeeAl & Fe1 10,000 USF G § WNHS 4 | THE FE U1 9eid] 2 TR G4F W9F gH §
e w1 (=afd) oniHe 4| =l @ 5 T SATESl AT WO I A

Tmt 1 efe #1 fawer Tt 11 St =1 fagemm

S aEe TE F 47% o= o w =z =i 69%

5= waies fatwan #1 savawa | 6% 5 s s oW TEEE | 21%
=

57 w1 1 weff e e 19% 7 57 7= 90 F FEw Og | 7%

5t gy =1 T 19%

ot e % wfa® §F 9% FH F w0 WA A% SAda H geal § S gHe J 5l 9 o W

== A AT Al WA w AL 1A

(1) 1:56 ) bhiB:2
(3) 6:8:1 4) 15:8
[Question ID = 2733][Question Description = Q5_GP_SET9_S1_Shift2]

1.1

[Option ID = 10929]
2.2

[Option ID = 10930]
3.3

[Option ID = 10931]
4. 4

[Option ID = 10932]

Correct Answer :-

e 1



[Option ID = 10929]

Topic:- 04th_SET9_B

1) Which of the following are the characteristics of adult learners?

(A) Physiological growth

(B) Increased focus of activities with peer group
(C) Exercise self control

(D)  Ability to act rationally

(E) Learning to be independent of guidance and control

Choose the most appropriate answer from the options given below :

(1) (A) and (B) only (2) (B)and (C) only
(3) (C) and (D) only (4) (C), (D) and (E) only
g it #1 fefatas 9 @ =6 famean 27

(&) HREEETEE 9ig

(B)  TEw WA % W1 AT W st e 2|
(C)  =TmeR F=am

(D)  THETE 9 A A A

= 3w U fashed |0 | weE Sugdd I R 99T i

(1) =& (A) 3 (B) (2) A= (B) 21 (C)
(3)  =ae (C) 3 (D) (4) Faa (C). (D) 3R (E)

[Question ID = 2734][Question Description = Q06_GP_Set9_S1_Shift1]
1. 1 [Option ID = 10933]
2. 2 [Option ID = 10934]
3. 3 [Option ID = 10935]
4. 4 [Option ID = 10936]

Correct Answer :-

e 1 [Option ID = 10933]

2) Given below are two statements :

Statement I: A teacher should ensure that learning 13 shifted away from rote method.
Statement II: A teacher should connect knowledge to life outside the school.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement T and Statement 11 are true
(2) Both Statement I and Statement II are falze
(3) Statement I 1z true but Statement II 1s falzse

(4) Statement I 1= false but Statement IT iz true

= 31 w9 faw o #

FoA (1) :  Torees =1 77 gffvas #on =ifen 5 afamm =7 (T =) s g =2
F9A (ID) : 1% +1 F9 F1 TFa B 96 F A=A F TG TG FA =0 |

IWF FIA  ATF °, S B T e #§ 9 6E 3w # =59 Fieu

(1 Fu 1 3R I1 24 59 2 |



(2) wus IR II3M 318 2 |
(3) w19 &, wife = Il otEca & |

(4)  FvF I o5 2, it wad [ a3 2 |

[Question ID = 2735][Question Description = Q07_GP_Set9_S1_Shift1]
1. 1 [Option ID = 10937]
2. 2 [Option ID = 10938]
3. 3 [Option ID = 10939]
4. 4 [Option ID = 10940]

Correct Answer :-
e 1 [Option ID = 10937]

3) In student centred approach. a teacher :
(1) maximizes use of extrinsic rewards
(2) encourages students to take increased responsibility
(3) uses appropriate teaching-learning materials for effective teaching

(4) teacher tries to relate present with the past
TE-FHigd IPE F e

(1)  =Tel JTEhTl 1 Afge ¥ ATaH ST HaT |

(@) o=t S 1 % o et # 2

(8) A e & fore sfam freor— st wml 5 swEm e 21
(4 ET A T IAEE F WY GG I TEE A

[Question ID = 2736][Question Description = Q08_GP_Set9_S1_Shift1]
1. 1 [Option ID = 10941]
2. 2 [Option ID = 10942]
3. 3 [Option ID = 10943]
4. 4 [Option ID = 10944]

Correct Answer :-
e 1 [Option ID = 10941]

4) Environmental factors which influence student learning are :

(A) Interest

(B) Fanmuly

(C) Motivation
(D) Community

(E) Socio-cultural diversities

Choose the most appropriate answer from the options given below :
(1) (A), (B) and (C) only (2)  (B), (C) and (D) only
(3) (A). (B) and (E) only 4y (B). (C) and (E) only

W AT w1 THIad FE A e ge S
(A)  #iEE

(By wiEm

(C)  wfiymmom

(D) =HEA

(E)  TmTsh-aiesios A

[ i)

Fr= fzu v famel § @ mEw s 39 R 99 S

(1) == (A). (B) 31T (C) (2) Fa= (B). (C) 371 (D)
(3)  =ad (A). (B) 31 (E) (4)  =ad (B). (C) #1 (E)

[Question ID = 2737][Question Description = Q09_GP_Set9_S1_Shift1]



1 [Option ID = 10945]
2 [Option ID = 10946]
3 [Option ID = 10947]
4 [Option ID = 10948]

A w N =

Correct Answer :-
e 1 [Option ID = 10945]

5) The objective of reflective level teaching is :

(1) To impart knowledge to the learners.

(2) To develop insight into the learners to solve problems.

(3) To make students relate facts with the principles.

(4) To encourage students to apply knowledge in similar and different situation.

(1)  Afemmeatst =1 9 |/F F=A

(2)  TEEE & T % o st § g S e
(3) B H AEAl % THEIE % WY @eEg 0 % 0 T |
(4)  BE W FH F w9E n i T e e o wemtEa e

[Question ID = 2738][Question Description = Q10_GP_Set9_S1_Shift1]
1 [Option ID = 10949]
2 [Option ID = 10950]
3 [Option ID = 10951]
4 [Option ID = 10952]

A W N -

Correct Answer :-
e 1 [Option ID = 10949]

6) Concepts that are not amenable to operational definitions are known as :

(1) Theoretical concepts (2) Hypothetical concepts

(3) Conventional concepts (4) Inferior concepts

Tt TR AiFAeTE TR % W T9 o1 B, I 99 Fad a7

(1)  Agifas g (2) AFFETATRF HheT
B IS @ e dwe

[Question ID = 2739][Question Description = Q11_GP_Set9_S1_Shift1]
1. 1 [Option ID = 10953]
2. 2 [Option ID = 10954]
3. 3 [Option ID = 10955]
4. 4 [Option ID = 10956]

Correct Answer :-
e 1 [Option ID = 10953]

7) A scientific approach in =ocial science research should take into account

(A) Metaphysical elements
(B) Spurious relations

(C) The factor of co-variation
(D) Time order

(E) The possibility of theorisation

Choose the most appropriate answer from the options given below :
(1) (A). (B). (C) only (2)  (B), (C), (D) only
(3) (C). (D). (E) only 4) (A). (B), (E) only



Tt e g | A uvm | A e e v =iy
(A)  AEdmEEE wTETa

(B)  ATEIO HEy

(C)  TE-UfE=aA 1 FF

(D) el R

(E) [T =RT0 =h] HYTEAT

== fau T fmedl 9 ® wWE I o =E i
(1) == (A). (B). (O) (2) === (B). (O). (D)
(3)  #a4 (C). (D). (E) (4)y =a= (A). (B), (E)

[Question ID = 2740][Question Description = Q12_GP_Set9_S1_Shift1]
1. 1 [Option ID = 10957]
2. 2 [Option ID = 10958]
3. 3 [Option ID = 10959]
4. 4 [Option ID = 10960]

Correct Answer :-
e 1 [Option ID = 10957]

8) Given below are two statements :

Statement I: Manipulation and control are two important possibilities in natural science

research.
Statement IT: Not many phenomena can be manipulated and controlled by social scientists.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3 Statement I 1= true but Statement II 1= false
(4 Statement I 1= false but Statement IT is true

= 7@ FoE T E

FoH () : 70 3R 0w T & 5 wmg i 21 Fecayn J9mEE 2 |

Fo[ (D) :  FOT a1 g/ #= 92151 1 206 390 2w 781 fF =1 o 2 |
I A o AT °, i 5 T e @ O w3 = Fife

(1) w13k [I5H a9e9 2 |

(2) e T 3 1 5H 319 2 |

(3) = I90% 7, ©rF %o I 316 2 |



(4) = I wEe 7, Wi wee [ | 2 |
[Question ID = 2741][Question Description = Q13_GP_Set9_S1_Shift1]
1. 1 [Option ID = 10961]
2. 2 [Option ID = 10962]

3. 3 [Option ID = 10963]
4. 4 [Option ID = 10964]

Correct Answer :-
e 1 [Option ID = 10961]

9) Identify the correct sequence of steps in the research process as identified by David

Nachmias :

(A) Research design

(B) Data collection

(C) Formulation of hypothesis

(D) Data analysis and generalisation

(E) Problem identification

Choose the most appropriate answer from the options given below :
(1) (A). (B). (C), (D). (E) (2) (B), (C), (D), (E), (A)

(3) (C). (D). (E), (A). (B) 4)  (E). (C) (A). (B). (D)

<farg S=fiAm g w1thsa Tt Ui % =90 % TR E S TEEE 1
(A) =g sy

B) 7R

(C)  aftmegr = faafor

(D) =7 Taver o FE

(E)  =oesr hi 29[

4= fow T fa=el § | WEl 39% @ 99 S

(1) (A). (B), (C), (D). (E) (2) (B, (C), (D). (E), (A)

(3) (C). (D). (E). (A). (B). 4) (E). (C), (A). (B). (D)

[Question ID = 2742][Question Description = Q14_GP_Set9_S1_Shift1]
1. 1 [Option ID = 10965]
2. 2 [Option ID = 10966]
3. 3 [Option ID = 10967]
4. 4[Option ID = 10968]

Correct Answer :-
e 1 [Option ID = 10965]

10)  Match List I with List II :

ListI List IT

T eayypa A7 o Advanate



R e o IR e R R e AR e

(A) Positivist (I), L. Thompson
(B) Interpretive (I} Stuart Hall

(C) Critical (ITII) Max Weber

(D) Feminist (IV) Augustus Comte

Choose the correct answer from the options given below :

1O (A)-D. B)-AD. (©)-AV). (D)-aID
@  (A)-AD. (B)-(IID). (C)-(IV), (D)-(D
(3) (A)-(IID). (B)-(IV). (C)-(I). (D)-(I1D)
@ (A)-aV). (B)-(I). (C)-(ID), (D)-(D)

-1 % Ty g1 faem Ffaw
-1 =11
ufaam T
(A) TeEEEmE @) U, g
(B) =ATEATRF dD) e B
(C) wteqa® (II) #o" TaR
(D) THEE AV) =AEE i

= 21 T famel | W | I9 H =989 HiA

(1) (A)-(I), (B)-(II). (C)-(IV). (D)-(I1I)

(2) (A)-(I1). (B)-(III), (C)-(IV), (D)-(I)

(3) (A)-(ITII). (B)-(IV). (C)-(I). (D)-(II)

(4) (A)Y-(IV), (B)-(I1I). (C)-(II). (D)-(I)
[Question ID = 2743][Question Description = Q15_GP_Set9_S1_Shift1]
1. 1 [Option ID = 10969]
2. 2 [Option ID = 10970]

3. 3 [Option ID = 10971]
4. 4 [Option ID = 10972]

Correct Answer :-
e 1 [Option ID = 10969]

) Source credibility in communication enables :
() Gate keeping (2) Mes=zage acceptance

(3 Semantic jugglery (4)  Controlled frames of reference

T H A A favaeEar A = 2

(1) gr - 9= (2) H=w - =
(3) w1 - gwEET @) T=d F

[Question ID = 2744][Question Description = Q16_GP_Set9_S1_Shift1]
1. 1 [Option ID = 10973]
2. 2 [Option ID = 10974]
3. 3 [Option ID = 10975]
4. 4 [Option ID = 10976]

Correct Answer :-
e 1 [Option ID = 10973]

Which of the following indicates warmth in communication?

(A) Social distance
(B)  Status eguation
(C) Natural eve contact

(D) Kinetics



(E) Innocent smile

Choose the correct answer from the options given below :

(1) (A). (B) and (C) only (2) (B). (C) and (D) only
(3) (A). (D) and (E) only {4y (C). (D) and (E) only
=1 © =i g § et = 2w 27
(A)  HmETE g

(B)  Teufa wdmr
(C)  Wrpfo® &9 | g 1 oo
(D)  wfawH

(E) Tz gom

g fou T famedt O © OE 3 7 =999 il
()  F=a (A). (B) 3 (C) (2) Fa= (B). (C) 37 (D)

(3) === (A). (D) = (E) (4) =ae (C). (D) i (E)

[Question ID = 2745][Question Description = Q17_GP_Set9_S1_Shift1]
1. 1 [Option ID = 10977]
2. 2 [Option ID = 10978]
3. 3 [Option ID = 10979]
4. 4 [Option ID = 10980]

Correct Answer :-
e 1 [Option ID = 10977]

13) (Given below are two statements : One 1s labelled as Assertion (A) and the other is labelled as

Reaszon (R) :

Asszertion (A):  The linkage between language and non-verbal signs is an important part of
classroom communication.

Reaszons (R) : If the classroom setting 1s cross-cultural then mastery over language is

adequate.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A)
(3) (A) 1= true but (R) 1= false

(4) (A) 1= false but (R) 1s true

5

dr= 31w fau o E, v sfawe (Assertion A) % ®9 ° fafaa 2 @1 3@ 39F A0 (Reason R) &

= H



AT (A) AT SR AT-HifEE WAl % 59 e FEATE a1 F FEeayel 97 F |

F (R) : SR Fédl T G9AS AT HIEHa & af 9 9 g s1fadm w8

IUCRE B F HATEE 5, A B T e § @ mEl 39 o = i

(1) (A) =1 (R) 3F1 @ £ 31 (R), (A) i = = 2 |
@ (& ¥R ®) 3 T E, AR R), (A) F o e i 2
(8)  (A)Teq &, =it (R) 316e3 7 |

(4) (A) #Tc 2, = (R) Oed Bl

[Question ID = 2746][Question Description = Q18_GP_Set9_S1_Shift1]
1. 1 [Option ID = 10981]
2. 2 [Option ID = 10982]
3. 3 [Option ID = 10983]
4. 4 [Option ID = 10984]

Correct Answer :-
e 1 [Option ID = 10981]

14) The sequence of barriers to reception classroom communication is :
(A) Attitudes
(B) Anxieties
(C) Expectations

(D) Needs

Choose the correct answer from the options given below ;

(1) (A). (D) (C). (B) (2) (A (B), (C). (D)
(3) (B). (C), (D)., (A4) (4) (D). (B). (C). (4)

FEPTT T4 H Wauew & {o1g amanet 61 g5 2

A) st
(B) T==m
(C)  zmem

(D)  AETEFAY

Hr o U kel @ | WA 39 1 =9 T

() (A). (D), (C). (B} (2) (A (B). (C). D)



(3) (B). (C). (D). (A) (4) (D). (B). (C). (A)

[Question ID = 2747][Question Description = Q19_GP_Set9_S1_Shift1]
1. 1 [Option ID = 10985]
2. 2 [Option ID = 10986]
3. 3 [Option ID = 10987]
4. 4 [Option ID = 10988]

Correct Answer :-
e 1 [Option ID = 10985]

15) Match List I with List IT :

List I List IT
Type of communication Example
(A) Phatic (I Touch
(B) Grapevine (I} Decoder becomes encoder
(C) Tactile (III) ]nforma_l. sometimes rumour
mongering
(D) Feedback (IV) Small talk

Choose the correct answer from the options given below :

1 (A-D. (B)-AD. (C)-@V). (D)-IID)
@ (A)-D. (B)-(IV), (C)-(ID), (D)-D)
(3)  (A)-AV). (B)-I), (C)-(D). (D)-(IT)
@) (A, (B)-AV). (C)-(ID), (D)-(T)

-1 % g g=-11 1 e i
-1 Tt-1T
A)  Few IO =
(B) TmET= (II) Tas 95a® = 9 2 |
(C) = (III) stv=ETTes, Ffi-Fd TFaE- e a9
(D) FrsaF (V) =E = e

Hi= o3 o fawedl 5 | TE 39 % 999 Fie
(1) (A)-(I). (B)-(II). (C)-(IV). (D)-(ILI)
(2} (A)-(IT). (B)-(IV). (C)-(IIL). (D}-(I)
(3) (A)-(IV), (B)-(I1II). (C)-(I). (D)-(IT)
(4 (A)-(IIT). (By-(IV). (C)-(IL). (D)-(T)

[Question ID = 2748][Question Description = Q20_GP_Set9_S1_Shift1]
1. 1 [Option ID = 10989]
2. 2 [Option ID = 10990]
3. 3 [Option ID = 10991]
4. 4 [Option ID = 10992]

Correct Answer :-
e 1 [Option ID = 10989]

16) The rates of simple interests in two banks A and B are in the ratio 5 : 4. A person wants to
deposit his total savings In two banks in such a way that he receives equal half vearly
interest from both. He should deposit the savings in banks A and B in the ratio :

Ay 52 @ 2:5
(3) 4:5 4y 5:4

AT B3 d # w1ew st g 5 4 F T | A, O safaq et anl s 3 A6 A 5|
1 A AR 2 R AR 3= S @ s SR s o | 38 A9 s w3 2 9 A o B
form araTe o T A =R ?

(L 5:2 (2 275

(3) 4 4 5:4

[Question ID = 2749][Question Description = Q21_GP_Set9_S1_Shift1]
1. 1 [Option ID = 10993]



2. 2 [Option ID = 10994]
3. 3 [Option ID = 10995]
4. 4 [Option ID = 10996]

Correct Answer :-
e 1 [Option ID = 10993]

17)  Three galsses are filled with a mixture of milk and water in the ratio 4 : 3, 5: 4 and 7: 6

resectively. If the contents of three glasses are poured into a single vessel, then the ratio of

water to milk in the new vessel 1s :

7 B n
AT AT ET) 372 6)l4° 577

E 2 - - e o

(3) (1+1+1)‘3 3+iw (4) (E+i+E :(i+3+i|
372476 779713779 13

79 R 9l % e o e § wee 4:3.5:4 30 7: 6% #1999 8 W g0 2, IR A1 e

AT UF A0 T I3 4 A1 A1 39 w0 ° UHT 3T 59 F I 7

4 5 7Y(3 4 6) 4 5 TY(3 4 8)
(1) LT @ [Sadns|dSea
CHFEET A T 3 4 6)l4 5 7)
@ e etk @ |EedeS Bl 0
L@ B ie] 7 9 13\7 9 13

[Question ID = 2750][Question Description = Q22_GP_Set9_S1_Shift1]
1. 1 [Option ID = 10997]
2. 2 [Option ID = 10998]
3. 3 [Option ID = 10999]
4. 4 [Option ID = 11000]

Correct Answer :-
e 1 [Option ID = 10997]

18) A certain culture of bacteria quadruples every hour. If a container with these bacteria was

half full at 10 pm. at what time was 1t one-eighth full?
(1) 9a.m. (2) 4am.
(3) 6 p.m. 4) 9pm.

e faem wwr & st wfq ave S & A 2, o sedifeEn & w0 5a ue 10 99 U0 H e w0

TN o1 T 7% e w9t 1/8 (T 312E) W gam ot

(1) 9=d gz (2) 499 g9=
(3) 6w A (4) 9= T

[Question ID = 2751][Question Description = Q23_GP_Set9_S1_Shift1]
1. 1 [Option ID = 11001]
2. 2 [Option ID = 11002]
3. 3 [Option ID = 11003]
4. 4 [Option ID = 11004]

Correct Answer :-
e 1 [Option ID = 11001]

19)  Given below are two statements :

Statement I: The halves of diagonals and a side of a rhombus form a right angled triangle



with side as hypotenuse.
Statement IT: Avea of a parallelogram i1s given by Basze x Height.

In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement II are false
(3 Statement I 12 true but Statement II 1s false

(4) Statement I 1= false but Statement II 1= true

= 3 e fag o

F97 (I): UF FH=EgHES I R g o T % o 9w vs awwm frge w5 tmi # e o

Fea (I1) : AR FAET F AEA 50 T G TE S A AR B R | (8w = TR x FEn)
ITI YA T AT 9, T B T e A 9 w8 3w 1 =9 Fie

(1) =% D9 [13H 9ed 2 |

(2) A I HR I 2 9 # |

(3) = I@ea 7, wifsT =9 [ @ 2 |

4 e loEd E, S A a2

[Question ID = 2752][Question Description = Q24_GP_Set9_S1_Shift1]
1. 1 [Option ID = 11005]
2. 2 [Option ID = 11006]
3. 3 [Option ID = 11007]
4. 4 [Option ID = 11008]

Correct Answer :-
e 1 [Option ID = 11005]

20) Consider the following statements:

(A) A succession of numbers formed and arranged in a definite order according to certain
definite rule. is called a progreszsion.

(B) Two numbers are said to be prime, if their H.C.F. 1s 2.

(C) A number 1s divisible by 9, if the sum of 1ts digits 1s divisible by 9.

Choose the correct statements from above :

(1) (A) and (B) only (2) (A)and (C) only

(3) (B) and (C) only (4) (A, (B) and (C)



(A)  Haur fFfvas feml & ager #ies gens #1189 R Faede (s giafveaa wod) gof

&

(TR ST |

-

(B) = Hiear HE-9s8 HiEAE FEAT & 3FF 399 HEaH HA9EaE 2 2 |

(C) =W fereli Tz % el =6 201 9 & 959 2 A1 4w w9 H wifaa w1 e |

e fau o e § W w3 = i

(1) = (A) 3 (B) (2) FA (A) 3 ()
(3)  Fa (B) 3 (O) @ (@), ®) #r(©

[Question ID = 2753][Question Description = Q25_GP_Set9_S1_Shift1]
1. 1 [Option ID = 11009]
2. 2 [Option ID = 11010]
3. 3 [Option ID = 11011]
4. 4 [Option ID = 11012]

Correct Answer :-
e 1 [Option ID = 11009]

21) Given below are two statements :

Statement I: If we infer “Socrates 1= a man, because he 1s mortal” we commit the fallacy

named as sadharana by Claszical Indian Logicians.

Statement IT : An inference 1s fallacious if the middle term 1s found to be common to both

the major term and its opposite. Such fallacy 1s named sadharana.

In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement II are false
(3) Statement I 1s true but Statement II 1s false
(4) Statement I 1s false but Statement II is true

o

Hr 71 e fow o #

99 (I): R 70 9W F  HFW UF OFT & @iE 97 ot 210 76 9ndE ot ae

% G HHEY e H T E

Fo (1) : UF F9H 9I9F =101 & 3P 95 9E, UEE UG 991 3HF @90 U5 1 IHIAEE 7, UH Seardry

“HTAROT ET # |

I A F ATEE °, = 5 0 e § H HEl 3T F =99 FIAu



(1) =% [ =0 IIoH &9 7 |

(2)  w [ &0 I oHl 395 7 |

(3)  wua I °ea 2, Wi e 1 57 2 |
(4)  FHA1=E= 2, A0 F2A 57 2|

[Question ID = 2754][Question Description = Q26_GP_Set9_S1_Shift1]
1 [Option ID = 11013]
. 2 [Option ID = 11014]
3 [Option ID = 11015]
4 [Option ID = 11016]

AW N =

Correct Answer :-
e 1 [Option ID = 11013]

22) The space program deserves increased expenditure in the vears ahead. Not only does the
national defense depend upon 1t. but the program will more than pay for itself in terms of
technological snipoffs. Further more, at current funding levels the program cannot fulfill its
anticipated potential”. What 1s the conclusion in the above argument?

(1) The national defense depends upon the space program.

(2) The space program dezerves increased spending in the vears ahead.

(3 The space program will more than pay for itself in terms of technological snipoffs.
(4) At existing funding levels the space program cannot fulfill its anticipated potential.

A AT A A AN FEEwE Balad =99 F U 2 | 7 hEd U9 @ 7 38 W A 2, @iy 7w wewe
TFATG-T % ¥ § 704 o ft 757 32 3@ 2| 3w afatea FEane e 'R w wE #ewn
TETATAT HEETS 6t O T8 5 @A & | 049 i § IR F9 B v

(1) T e FAatiE HrEmd O E |

(2) M arel 991 § SAeAiE HEHe Feitd =49 % U F |

(3)  A=ATE FEFA GFANR-T09 5 F9 ° =9 W =G T AlaE 81 F2 o

(4) T T TR W sie Fems JEEEa Jeaeg w0 TE FOEEd F

[Question ID = 2755][Question Description = Q27_GP_Set9_S1_Shift1]
1 [Option ID = 11017]
2 [Option ID = 11018]
3 [Option ID = 11019]
4 [Option ID = 11020]

AN wN -

Correct Answer :-
e 1 [Option ID = 11017]

All mortals are men.
Socrates 1s mortal
Therefore Socrates 1s a man.

Which of the following statements are true of the above argument?
(A) Above arguments is sound.

(B)  Above argument is valid.

(C)  Above argument is fallacious.

(D)  Above argument commits the fallacy of undistributed nuddle.

Choose the correct answer from the options given below :

(1) Only (A) and (B) are correct (2)  Only (A) i3 correct
(3) Only (C) is correct (4)  Only (C) and (D) are correct

gl Fromter wrE 2
THTAT G A 7 |
freafeafaa et & @ 39 359 & " § % d@ 77 27

(&) T 3fFE g 2
(B)  Iwdgd gfFa o £ |
(C)  Iwdaa FfFa 9 2 |



(D)  Fuded 3fFa wifaaia oeF saE H w5 7 |

I f2n v feedl § | HWEl 39 @0 =95 i

(1) == (A) 31k (B) @81 3 (2) Haw (A) TE 2
(3)  Haw (C)udt & (4) Fa« (C) 3t (D) = &

[Question ID = 2756][Question Description = Q28_GP_Set9_S1_Shift1]
1. 1 [Option ID = 11021]
2. 2 [Option ID = 11022]
3. 3 [Option ID = 11023]
4. 4 [Option ID = 11024]

Correct Answer :-
e 1 [Option ID = 11021]

24) Given below are two statements :

Statement I: “Every thinkable is nameable, because it iz thinkable”. This is a fallacious
arguments because there can be no Inference where the minor and the

middle terms are the same.

Statement II: The fallacy committed in this statement 1s called the extra-ordinary
{asAdharana) because the middle term does not belong to anything other

than the present minor term.

In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement II are falze
(3 Statement I 1= true but Statement IT 1s falze

(4 Statement I i false but Statement IT is true

#oh (1) : e el 2, afhgaens 2, =it 37 FEneim 20 98 o gme gfEa 2 ot an

ST & A1 T8 Hoa1 SET 110 31 559 92 U A A

el

Fo (I) . 38 U3 T T o198 T FATIRY FE1 TG0 8 F00F 967 0% T84 10 92 7 AfAE o

foreli oeg & wesfea A8 B |
SYTRE WY = S H, A9 B T Gl # @ HE 36 # =g i
(1) A 13 [ 2E we 3 |
(2) FF IHAR I ZE 389 2 |
(3) =y 15w 2, =i 5y 11 o7mea & |
(4) Y I 3EeT B, wfeh wyd 1199 2|

[Question ID = 2757][Question Description = Q29_GP_Set9_S1_Shift1]
1. 1 [Option ID = 11025]
2. 2 [Option ID = 11026]
3. 3 [Option ID = 11027]
4. 4 [Option ID = 11028]

Correct Answer :-
e 1 [Option ID = 11025]

25) ipssss Tedn el St e



Statement I: Nalvavikas define upadhi (conditionality) as the necessary relation of
something only with major term but not with middle term.

Statement II : According to Naivavikas wherever the major term is only conditionally true.
1t 1= invalid and the conclusion drawn from it cannot be valid.

In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement II are false
(3 Statement I iz true but Statement I1 1s falze

(4) Statement I iz false but Statement IT 1= true

et a1 e fRm T R

Fo (I): =009 9109 i 9E9 U2 5 T TA AN U9H U2 F g1y TR 95 F AT g F E

 affag = 2 |
Fo (II) : A=A % FUR U9H U2 A= wE H uufaed ' O g 2, 97 w78y 2 o sud fee
faepd 2w =8 & ohd 2

IUCRE YA F AT °, A B T e 4 @ we 39 = A
(1) =% I#AR IISH a7 |
(2) = I IIEA s\ a8 |
(3)  FuF I9eT 7, =0T %A 11 3389 2 |
(4) 99 I A5 2, i =od L8 2 |
[Question ID = 2758][Question Description = Q30_GP_Set9_S1_Shift1]
1 [Option ID = 11029]
2 [Option ID = 11030]

3 [Option ID = 11031]
4 [Option ID = 11032]

AW N =

Correct Answer :-
e 1 [Option ID = 11029]

26) Which of the following 1s a special type of Computer Virus that fills a computer system with
self-replicating information. clogging the system so that its operations are slowed or stopped?

(1) Firewell (2) Keystroke
(3) Worm (4) Zombhie

fefertgs 4 @ FF oF G99 v w1 w9 2 ol wger (e H T Nahld e o 6w
iR T T O A fE TS IA E S A AT 2 7

(1 TR TS (2) 2w
(3 =W (4) st

[Question ID = 2759][Question Description = Q31_GP_Set9_S1_Shift1]
1 [Option ID = 11033]
2 [Option ID = 11034]
3 [Option ID = 11035]
4 [Option ID = 11036]

A W N -

Correct Answer :-
e 1 [Option ID = 11033]

27) Identify the correct order of the following computer storage capacities ranked from smallest

to largest capacity.
(A) 1500 M Bytes

(B) 5 K Bytes



(C) 1 G Bytes

(D) 2 T Bytes

Choose the correct answer from the options given below :

() (B).(C). (A), (D) (2) (B). (C), (D). (A)

(3) (D). (C). (B). (A) 4) (B). (A), (C). (D)

FHT TUSRY ST % IR W B2 U §S WS & Tal 30 F TEaE |

(A) 1500 =T w5TE

(B) 5 Tover smsem
(C)  17frm =msem
(D) 27U EEE

it fau o el | O OE I F 99 i

(1) (B). (C). (A), (D) (2} (B)(C). (D). (&)

(3) (D). (C), (B), (A) (4) (B)., (A), (C). (DY

[Question ID = 2760][Question Description = Q32_GP_Set9_S1_Shift1]
1. 1 [Option ID = 11037]
2. 2 [Option ID = 11038]
3. 3 [Option ID = 11039]
4. 4 [Option ID = 11040]

Correct Answer :-
e 1 [Option ID = 11037]

28) (iiven below are two statements -
Statement I: Software programs permanently stored in ROM are called ‘Malware'.

Statement IT: The use of the Internet. Cell phones or other devices to send or post content
intended to hurt or embarrass another person 1s called Cyber bullying.

In the light of the above statements, choose the correct answer from the options given below:
(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement IT are false
(3) Statement I 1s true but Statement II 1s false
(4) Statement I 1= false but Statement II 1= true

fr= 21 FA Tou o #

FoF () AW.L.UA, § TEf 59 § yuerisa e WEE e FE 99 2 |

F97 (ID) : o8¢ ATl F1 =12 T5aH 41 WoOH w0 % 306 H 5262 F TEr, HEEe BE 91 g qEE |
U3 T F] IR TR 0 ez (AT AT gl Fad |

I A F ATEF 9, = 5 0 T B | Hel 39 S =9 FIEA
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(2) % IR [IHET 2350 7 |
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[Question ID = 2761][Question Description = Q33_GP_Set9_S1_Shift1]
1. 1 [Option ID = 11041]
2. 2 [Option ID = 11042]
3. 3 [Option ID = 11043]
4. 4 [Option ID = 11044]

Correct Answer :-
e 1 [Option ID = 11041]

29) with respect to Computers, which of the following are permanent storage devices?

(A) Pen Drive

(B) Hard Disk
(C) Compact Disk

(D) RAM

Choose the correct answer from the options given below :

(1) (A). (B) and (C) only (2) (B). (C) and (D) only
(3) (A). (C) and (D) only (4) (A), (B) and (D) only

T F O § (AT B H FE T 9SEe /ihe (WA =R (5aed) 77

(A) T SEd
® ===
(C)  wivdwe f5e

(D) FRTuE. (i9)
=1 fau T el 6 | wE S w0 = i

(1)  #hae (A), (B) 31 (C) (2) #Fa= (B), (C) 317 (D)
(8) == (A). (C) #i (D) (4) == (A). (B) 51 (D)

[Question ID = 2762][Question Description = Q34_GP_Set9_S1_Shift1]
1. 1 [Option ID = 11045]
2. 2 [Option ID = 11046]
3. 3 [Option ID = 11047]
4. 4 [Option ID = 11048]

Correct Answer :-
e 1 [Option ID = 11045]

30) Mateh List T with List T

LastI Tast IT
(Computer Terms) (Description)
(A) Mouse (I) Input Device
(B) Modem (IT) External Memory
(C) Pen-Drive (ITT} Web Browser
(D) Opera (IV) Network Device

Choose the correct answer from the options given below :

(1) (A)-D. (B)-(IV). (C)-(ID), (D)-(IT)
2 (A)-IV). B)-(D). (C)-1D), (D)-(IID)
(3) (A)-(I). (B)-(IV). (C)-(II). (D)-(IIT)
(4) (A)-(II), (B)-(IV), (C)-(D), (D)-(I1I)

-1 % Iy g1 1 fiere =ifse

=1 g 11



(A) TE=H O = f=rm
(B) wizH (ID) uFHZAS HAT
(C) U4 g (A1) =% =

(D) @A (V) “za% fzarm

H= f2u T fawed § ° TE 3 1 =99 Fian

(1) (A)-D). (B)-(IV), (C)-(IIT). (D)-(IT)
2)  (A)-AV). B)-@. (C)-(ID), (D)-(III)
(3)  (A)-M), (B)-AV). (C)-(ID), (D)-ITD)
4 (A)-dD). (B)-(IV), (C)-(I). (D)-(IID)

[Question ID = 2763][Question Description = Q35_GP_Set9_S1_Shift1]
1. 1 [Option ID = 11049]
2. 2 [Option ID = 11050]
3. 3 [Option ID = 11051]
4. 4 [Option ID = 11052]

Correct Answer :-
e 1 [Option ID = 11049]

31) By the year 2020, one of the targets in sustainable Development Goals 1s to reduce global
deaths and injuries from road traffic accidents by

1) 33% @) 40%
(3  50% 4 25%

9 2020 9%, anuiE FEm @57 w1 3279, goF AGER gHIAE ¥ 39 g0y vF 9 # Fad afhe
T £

(1) 33% (2) 40%
(3) 50% (4 25%

[Question ID = 2764][Question Description = Q36_GP_Set9_S1_Shift1]
1. 1 [Option ID = 11053]
2. 2 [Option ID = 11054]
3. 3 [Option ID = 11055]
4. 4 [Option ID = 11056]

Correct Answer :-
e 1 [Option ID = 11053]

32) Which of the following 1s perceived relatively a low risk problem in the context of
human welfare?

(1) Radionuclides
(2) Alrborne toxins

(3) Stratospheric ozone depletion
(4) Habitat alteration and destruction
Freafeafes | @ =7 ArE Feaw & g=d § aufs =9 4 F9 Ai0EE G w9 5 ' 5 g6 w6 2 ?

(1) e i = (feamafrasa)

(2)  aEAtEa e wE (veEee dtEes)

(3)  a@rvHvSHE e & (T e i)
(4) =AW ufEes v T (R aieeee v feraee)

[Question ID = 2765][Question Description = Q37_GP_Set9_S1_Shift1]
1. 1 [Option ID = 11057]
2. 2 [Option ID = 11058]



3. 3 [Option ID = 11059]
4. 4 [Option ID = 11060]

Correct Answer :-
e 1 [Option ID = 11057]

33)  According to WHO standards for drinking water quality. the concentration of Arsenic should
not exceed :
(1) 10 wgL™ (2) 6.0 weL™
(3) 5.0 ugL’ 49 1.0 ueL™
forvel T2 BT % WA+ ATEN YT we i uEl = fou sates i wmn ————— 3 sl

(1) 10 peL™t (2) 6.0 yeL™
(3) 5.0 ugL™ 4 1.0 ygL?

[Question ID = 2766][Question Description = Q38_GP_Set9_S1_Shift1]
1. 1 [Option ID = 11061]
2. 2 [Option ID = 11062]
3. 3 [Option ID = 11063]
4. 4 [Option ID = 11064]

Correct Answer :-
e 1 [Option ID = 11061]

34) During a combustion process, the following air pollutants are produced :
(A) Nitric oxide
(B) Nitrogen dioxide
(C) Nitrous oxide

(D) Carbon monoxide

(E) Ozone

Choose the correct answer from the options given below :

(1) (A) and (C) only (2)  (A), (C) and (D) only
(3) (B). (D) and (E) only 4) (A). (B)and (D) only

Tesaea i uhman i aEty § Fefafas 5o 3o v 2
(A)  FEfew sfiess

(B)  AEZiSA SEHFEES

(C)  TI52H T9HEs
(D) A HHEFEES

\

(E) e

S fau T fa=edl 8 5 OE 3 1 =99 i

(1) =& (A) 311 (C) (2)  Fa (A), (C) 11 (D)
(3)  Faa (B). (D) 3 (E) (4) =Ae (A). (B) # (D)

[Question ID = 2767][Question Description = Q39_GP_Set9_S1_Shift1]
1. 1 [Option ID = 11065]
2. 2 [Option ID = 11066]
3. 3 [Option ID = 11067]
4. 4 [Option ID = 11068]

Correct Answer :-
e 1 [Option ID = 11065]

35) The “Vizion statement’ of International Solar Alliance 1s

(1) Let us together make the world a hetter place

824 T.et 1= torether make the =uun hrmehter



(3) Let us make the world more energy efficient

(d) Let us have a carbon-neutral world

AITOE A wEEd (W) W a9 s

(1) =9 v w19 Toer 38 g F1 sear T = |

(2) =8 wF =y e g i F e A |
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(4) =9 He TF FET-gge IHEr O

[Question ID = 2768][Question Description = Q40_GP_Set9_S1_Shift1]
1. 1 [Option ID = 11069]
2. 2 [Option ID = 11070]

3. 3 [Option ID = 11071]
4. 4 [Option ID = 11072]

Correct Answer :-
e 1 [Option ID = 11069]

36) Given below are two statements : One is labelled as Assertion (A) and the other 12 labelled as

Reason (R) :

Assertion (A):  National Education Policy 2020 has recommended for setting up
Multidisciplinary Education and Research University (MERU).

Reasons (R) : MERU will aim at attaining highest global standards in gquality education.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 12 NOT the correct explanation of (A)
(3) (A) 1s true but (R) 12 false

4) (A) 1= falzse but (R) is true

Fr= 21 #ya o T 2, v 9fuwe (Assertion A) % 0 ¥ fafiad 2 a1 990 3WF FEO (Reason R) F

AT (A) T e Hifq 2020 ¥ wgfa fan v oy fGvatasem MERU) =i w0 =
g 2
FR (R) MERU =1 3274 ool fren # s==a8 37 99 WY =+ 5 |

IWIE FHIH * AE §, 49 G T fHwen § g gEl 3m %1 999 hifau

(1) (A 3R (R) 341 93 & &1 (R), (A) F1 &1 =ame 2 |
(2) (A ¥R (R)2AT 99 &, 3 (R). (A) 1 78 == 757 2 |
(3 (A EHEE, A (R) 58T & |

(4) (A) 318 2, =itea (R) |eF B

[Question ID = 2769][Question Description = Q41_GP_Set9_S1_Shift1]
1. 1 [Option ID = 11073]



2. 2 [Option ID = 11074]
3. 3 [Option ID = 11075]
4. 4 [Option ID = 11076]

Correct Answer :-
e 1 [Option ID = 11073]

37) Objectives of Open Distance Learning (ODL) and online programmes are :
(A) To improve access to higher education
(B) To Increase gross enrolment ratio (GER)
(C) To provide opportunities for lifelong learning
(D) To make education innovative

(E) To improve the quality of education

Choose the correct answer from the options given below :
(1) (A), (B), (D) only (2) (B), (C), (E) only

(3) (A), (B). (C) only 4y (A, (B), (C). (D) only

TFd g0y farear (ODL) =R siiersd wEFaT & 3299 &

(B) @& FmEA 3ETE (GER) ¥ Afg =0
(C)  #ATHEA ATE % HTE TS A
(D) fove =1 FamEn s

(E) oz =i oraen 8 gaw =

= fou U fomedt ® 4 HEH ST SAE R =9 AT
(1) === (A), (B). (D) (2) “a= (B), (C), (E)

(3)  =ad (A). (B). (C) (4)  =ae (A). (B), (C). (D)

[Question ID = 2770][Question Description = Q42_GP_Set9_S1_Shift1]
1. 1 [Option ID = 11077]
2. 2 [Option ID = 11078]
3. 3 [Option ID = 11079]
4. 4 [Option ID = 11080]

Correct Answer :-
e 1 [Option ID = 11077]

Students from soclo-economically disadvantazed backeround require following supports in

order to make successful transition to higher education :
(A) Financial support only
(B) Finanecial and academic support only

(C)  Affirmative action policy



(D) Technical support only

(E) Career counselling only

Choose the correct answer from the optlons given below :
(1) (A) and (B) only (2)  (A), (B) and (D) only

(3)  (A), (B). (C), (D) only 4 (A). (B). (C). (E) only

AT - a1 =9 ® Sfad 99yl 9@ ot A faenfE w1 ahedgEs sea e Tae & o et

FEEAIA i AETERal Bl 2

(A) e faeE gemEar

(B)  hao fad@ w3 Al Famaan

(C)  TFrET =/ i
(D) =ael aFATR TErEaT

(E) e #iE wee

= fau o T | O O 3w =mA i

(1) = (A) # (B) (2) =E= (A), (B) #T (D)
(3)  =ae (A), (B). (C). (D) (4)  Fae (A). (B). (C). (E)

[Question ID = 2771][Question Description = Q43_GP_Set9_S1_Shift1]
1. 1 [Option ID = 11081]

2. 2 [Option ID = 11082]

3. 3 [Option ID = 11083]

4. 4 [Option ID = 11084]

Correct Answer :-

e 1 [Option ID = 11081]

39) Given below are two statements :

Statement I: IITs are different from other normal engineering colleges In our country.
Statement IT: In IITs science of engineering is taught whereas In normal engineering

colleges mostly technical aspect of engineering is taught.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3 Statement I 1s correct but Statement II is incorrect
(4 Statement I 1s incorrect but Statement I1 1= correct

i 2t wye feg o #



o (I):  wwd gtk gee (IIT) 91 29 % 379 9 sai-m S | &= 2|

e (I) : IIT ® sHit=nen =1 fbage fagm S & S=is @me oSi=gi e 8 diaseE:

I9AF FT o e 4, Hi= e v faweut § 9 ged Iugw S w1 =9 Fifaw
(1) o Do II2H =8 2 |

(2) == 3 11 2E 7o 3 |

(3) == I9E &, Wi 9T 1o 2 |

(4) w9 17 2, S 59 198 2 |

[Question ID = 2772][Question Description = Q44_GP_Set9_S1_Shift1]
1. 1 [Option ID = 11085]
2. 2 [Option ID = 11086]
3. 3 [Option ID = 11087]
4. 4 [Option ID = 11088]

Correct Answer :-
e 1 [Option ID = 11085]

40) Quality of higher education can be improved by :
(A) Disciplining faculty members and students.
(B) Improving facilities for faculty members and students.
(C) Providing exposure to the faculty members and students to good foreign universities.

(D)  Promoting privatization of higher education institutions.

(E) Strengthening secondary education system.

Choose the correct answer from the options given below :
(1) (A). (B), (D) only (2) (B). (D). (E) only

(3) (B). (C). (D) only (4)  (B). (C). (E) only

z=a T it qorE § TR g guR @ S A 2 7

(A) TFE % TEE SR il w5 et Fe

(B) ©FM™ % Gl A faenHal i giawsn § gaw @

- ¥ Y ¢ - = ) T v B s N ~ Ty - - N - ~
(C) T & Teedl o faenfdf=t = sr=e fsh favafaae 6 afisa g2m #e)

(D = Toen grenan & s = Li"|r+1|q-| %:rrl

(E)  wreaiae o ==ae =1 Heedl 92 T |



A 18T T Te=hed] H " Hel 301 =l =499 =hilEY :

(1) == (A). (B). (D) (2) === (B), (D). (E)
(3)  #a= (B), (C). (D) (4) =aw (B). (C), (E)

[Question ID = 2773][Question Description = Q45_GP_Set9_S1_Shift1]
1 [Option ID = 11089]
2 [Option ID = 11090]
3 [Option ID = 11091]
4 [Option ID = 11092]

AN wnN -

Correct Answer :-
e 1 [Option ID = 11089]

Topic:- 04th_SET9_C

1) Read the passage and answer questions.

While the entire world has been focused on the economic fallout of the corona-virus
pandemic. two other much older viruses have been lurking in the shadows for quite some
time. Since these two viruses are non-biological in nature. they are vaccine-proof. One of
them 1s marketplace-based. the other. mind-based. While the origin of the coronavirus may
or may not be traced back to Wuhan in China. the two older viruses originated in the US.
Silicon Valley has had a huge role to play in propagating and prelonging these two viruses,

The three seemingly disparate viruses are actually linked in major wavs when viewed from
the twin perspectives of cultural anthropology and economics.

The marketplace-based virus has to do with ‘conspicuous consumption’. a term coined by
American economist and =soclologist Thorstein Veblen in his 1899 book— The Theory of the
Leisure Class. Consplcuous consumption 1s a catch-all phrase that best describes the practice
of acquiring goods of quality and quantity far in excess of one’s needs — an acquisition process
facilitated these days by e-commerce giants such as Amazon. While conspicuous consumption
is typically associated with affluent countries in the West, it is catching on fast in India.
much to the delight of delusional politicians and IT compamnies. I find this quite curious since
India does not meet the definition of an affluent society. viz..
a production-oriented society where the basic needs — food. clothing and shelter — of its
citizenry have been met.

The mind-based virus is centred on ‘meme’. a term coined by Richard Dawkins. British
evolutionary biclogist and author of the 1976 best seller, The Selfish Gene. Memes are units
of information that propagate in the meme-pool (akin to the gene pool) by leaping from brain
to brain.

The market-place pandemic 1s

(A) Biological
(B) Non-biological
(C) Vacecine proof

(D) Mind-bazed

Choose the correct option :

(1) (A) and (B) only (2)  (B)and (C) only
(3) (C) and (D) anly (4)  (A)and (D) only
ﬂaﬁmhﬂmwmmﬁ ﬂf%ﬁ'l"'l’cl’/’ﬂ?%ﬁ a1 =1 O A o o
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Read the passage and answer questions.

While the entire world has been focused on the economic fallout of the corona-virus
pandemic. two other much older viruses have been lurking in the shadows for quite some
time. Since these two viruses are non-biclogical In nature, they are vaccine-proof. One of
them 1s marketplace-based. the other. mind-based. While the origin of the coronavirus may
or may not be traced back to Wuhan in China. the two older viruses originated in the US.
Silicon Valley has had a huge role to play in propagating and prolonging these two viruses.

The three seemingly disparate viruses are actually linked in major ways when viewed from
the twin perspectives of cultural anthropology and economics.

The marketplace-based virus has to do with ‘conspicuous consumption’. a term coined by
American economist and sociologist Thorstein Veblen in his 1899 book— The Theory of the
Leisure Class. Conspicucus consumption is a catch-all phrase that best describes the practice
of acquiring goods of quality and quantity far in excess of one’s needs — an acquisition process
facilitated these days by e-commerce glants such as Amazon. While conspicuous consumption
is typically associated with affluent countries in the West. it 1s catching on fast in India.
much to the delight of delusional politicians and IT companies. I find this quite curious since
India does not meet the definition of an  affluent soclety. viz.
a production-oriented society where the basic needs — food. clothing and shelter — of its
citizenry have been met.

The mind-based virus 1= centred on ‘meme’. a term coined by Richard Dawkins. British
evolutionary biologist and author of the 1976 best seller. The Selfish Gene. Memes are units
of information that propagate in the meme-pool (akin to the gene pool) by leaping from brain
to brain.



The two non-biological viruses originated in :

(1) China (2) Great Britain
(3) The US (4) India
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Read the passage and answer questions.

While the entire world has been focused on the economic fallout of the corona-virus
pandemic. two other much older viruses have been lurking in the shadows for quite some
time. Since these two viruses are non-bioclogical in nature. they are vaccine-proof. One of
them 1s marketplace-based. the other. mind-based. While the origin of the corcnavirus may
or may not be traced back to Wuhan in China. the two older viruses originated in the US.
Silicon Valley has had a huge role to plav in propagating and prolonging these two viruses.

The three seemingly disparate viruses are actually linked in major wavs when viewed from
the twin perspectives of cultural anthropology and economics.

The marketplace-based virus has to do with ‘conspicuous consumption’. a term coined by
American economist and soclologist Thorstein Veblen in his 1899 book— The Theory of the
Leisure Class. Consplcuous consumption is a catch-all phrase that best describes the practice
of acquiring goods of quality and quantity far in excess of one’s needs — an acquisition process
facilitated these days by e-commerce giants such as Amazon. While conspicuous consumption
is typically associated with affluent countries in the West, it is catching on fast in India.
much to the delight of delusional politicians and IT compamnies. I find this quite curious since
India does not meet the definition of an affluent society. viz..
a production-oriented society where the basic needs — food. clothing and shelter — of its
citizenry have been met.



1he mind-bpased virus 18 centred on meme. a term colned by huchard Dawkins. britisn
evolutionary biologist and author of the 1976 best seller. The Selfish Gene. Memes are units
of information that propagate in the meme-pool (akin to the gene pool) by leaping from brain
to brain.

The term "‘Conspicuous Consumption’ is related to the process of :

(1) Meeting one’s basic needs
(2) Individual delusion
(3) Technology adoption

(4) Indiscriminate acquisition of goods
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Read the passage and answer questions.

While the entire world has been focused on the economic fallout of the corona-virus
pandemic. two other much older viruses have been lurking in the shadows for quite some
time. Since these two viruses are non-biological in nature. they are vaccine-proof. One of
them 1s marketplace-based. the other. mind-based. While the origin of the coronavirus may
or may not be traced back to Wuhan in China. the two older viruses originated in the US.
Silicon Valley has had a huge role to play in propagating and prelonging these two viruses,

The three seemingly disparate viruses are actually linked in major wavs when viewed from
the twin perspectives of cultural anthropology and economics.

The marketplace-based virus has to do with ‘conspicuous consumption’. a term coined by
American economist and =soclologist Thorstein Veblen in his 1899 book— The Theory of the
Leisure Class. Consplcuous consumption 1s a catch-all phrase that best describes the practice
of acowiringe coods of quality and guantity far in excess of one’s needs — an acguisition process



facilitated these days by e-commerce giants such as Amazon. While conspicuous consumption
18 typically associated with affluent countries in the West, it is catching on fast in India,
much to the delight of delusional politicians and IT companies. I find this quite curlous since
India does not meet the definition of an  affluent soclety, ViZ..
a production-oriented society where the basic needs — food. clothing and shelter — of its
citizenry have been met.

The mind-based virus iz centred on ‘meme’. a term coined by Richard Dawkins. British
evolutionary biologist and author of the 1976 best seller. The Selfish Gene. Memes are units
of information that propagate in the meme-pool (akin to the gene pool) by leaping from brain
to brain.

According to the author, India iz a/an :

(1) Producer society (2) Affluent society
(3) Trader society (4) Developing soclety
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Read the passage and answer questions.

While the entire world has been focused on the economic fallout of the corona-virus
pandemic. two other much older viruses have been lurking in the shadows for quite some
time. Since these two viruses are non-biclogical in nature. they are vaccine-proof. One of
them 1s marketplace-based. the other. mind-based. While the origin of the coronavirus may
or may not be traced back to Wuhan in China. the two older viruses originated in the US.
Silicon Valley has had a huge role to play in propagating and prolonging these two viruses.

The three seemingly disparate viruses are actually linked in major wayvs when viewed from
the twin perspectives of cultural anthropology and economics.



The marketplace-based virus has to do with ‘conspicuous consumption’. a term coined by
American economist and soclologist Thorstein Veblen in his 1899 book— The Theory of the
Leisure Class. Consplcuous consumption is a catch-all phrase that best describes the practice
of acquiring goods of quality and guantity far in excess of one’s needs — an acquisition process
facilitated these days by e-commerce giants such as Amazon. While conspicuous consumption
is typically associated with affluent countries in the West, it is catching on fast in India.
much to the delight of delusional politicians and IT companies. I find this quite curlous since
India does not meet the definition of an affluent society. viz..
a production-oriented soclety where the basic needs — food. clothing and shelter — of its
citizenry have been met.

The mind-bazed virus i1s centred on 'meme’. a term colned by Richard Dawkins. British
evolutionary biclogist and author of the 1976 best seller, The Selfish Gene. Memes are units
of information that propagate in the meme-pool (akin to the gene pool) by leaping from brain
to brain.

Memes reprezent :

(1) (Gene pool (2) E-commerce

(3) Affluence (4) Information propagation
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